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H=HA HEETR 5
IR 10005105 YIEEEE313%
b= 10007701 YIEIEE313 %
b= 10021612 YIEIEE313 %
b= 10029103 YIEEE313 %
b= 10055430 YIEIEE313 %
b= 10015440 YIEIEE313 %
PIEAH 10015918 PIEEE313%
YrrReH 10006335 YIFREE313 =
YrrReH 10006531 YIFREE313 =
YrrReH 10009118 YIFREE313 =
YrrReH 10014104 YIFREE313 =
YrrReH 10041503 YIFREE313 =
YrrReH 10082710 YIFREE313 =
YIrReH 10114020 YIFREE313 =
YIrReH 10049006 YIFREE313 =
YrrReH 10004806 YIFREE313 =
PIEEH 10005130 PIEEE313%
YIrReH 10005338 YIFREE313 =
YIrReH 10012214 YIFREE313 =
YIrReH 10078435 YIFREE313 =
PIEAH 10078719 PIEEE313%
YIERH 10088134 VIEEE313%
PIEAH 10113519 PIEEE313%
YIERH 10061839 VIEEE313%
YIEEaH 10033403 VIEEE313%
PIEEH 10044140 PIEEE313%
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H=HA HEETR 5
b= 10003315 YIEIEE313 %
b= 10038830 YIEIEE313 %
b= 10024612 YIEIEE313 %
b= 10064410 YIEEE313 %
b= 10019821 YIEIEE313 %
b= 10043619 YIEIEE313 %
YrrReH 10056510 YIFREE313 =
YrrReH 10059733 YIFREE313 =
YrrReH 10044816 YIFREE313 =
YrrReH 10066527 YIFREE313 =
YrrReH 10071441 YIFREE313 =
YrrReH 10118120 YIFREE313 =
YrrReH 10084824 YIFREE313 =
PIEEH 10113118 PIEEE313%
PIEEH 10113138 PIEEE313%
YrrReH 10076323 YIFREE313 =
YrrReH 10333305 YIFREE313 =
YIrReH 10333338 YIFREE313 =
YIrReH 10333602 YIFREE313 =
YIrReH 10138017 YIFREE313 =
YIERH 10138303 VIEEE313%
PIEEAH 10121220 PIEEE313%
PIEAH 10122412 PIEEE313%
PIEEAH 10128409 PIEEE313%
YIEEaH 10129935 VIEEE313%
PIEEH 10151837 PIEEE313%
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H=HA HEETR 5
b= 10120729 YIEIEE313 %
b= 10120739 YIEIEE313 %
b= 10120741 YIEIEE313 %
b= 10162031 YIEEE313 %
b= 10162911 YIEIEE313 %
b= 10154734 YIEIEE313 %
YrrReH 10155430 YIFREE313 =
YrrReH 10155303 YIFREE313 =
YrrReH 10157214 YIFREE313 =
YrrReH 10167104 YIFREE313 =
YrrReH 10178040 YIFREE313 =
YrrReH 10179502 YIFREE313 =
YrrReH 10179528 YIFREE313 =
YIrReH 10179904 YIFREE313 =
YIrReH 10182639 YIFREE313 =
YrrReH 10182905 YIFREE313 =
PIEEH 10185217 PIEEE313%
YIrReH 10196002 YIFREE313 =
PIEEH 10221941 LR
YIrReH 10230312 PIFREES01 =
PIEAH 10179513 PIEEES01 =
PIEEAH 10213017 PIEEESO1 =
PIEAH 10209139 PIEEESO1 =
PIEEAH 10194823 PIEEESO1 =
YIEEaH 10174601 PIELEESO1 =
PIEEH 10180616 PIEEESO1 =
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H=HA HEETR 5
b= 10180706 R
b= 10210132 b R
b= 10214404 YIEIEES01 =
b= 10223627 b R
b= 10228202 YIEIEES01 =
b= 10228406 YIEIEES01 =
PIEAH 10229118 PIELEES01 %
YrrReH 10248839 PIFREES01 =
YrrReH 10242016 VIFREES01 =
PIEAH 10259201 PIELEES01 %
PIEAH 10269817 PIELEES01 %
YrrReH 10272015 VIFREES01 =
PIEAH 10275726 PIELEES01 %
YIrReH 10301517 PIFREES01 =
PIEEH 10301931 PIELEES01 %
PIEEH 10303901 PIELEES01 %
YrrReH 10300015 PIFREES01 =
YIrReH 10300307 VIFREES01 =
YIrReH 10344913 VIFREES01 =
YIrReH 10348524 PIFREES01 =
PIEAH 10007001 PIEEES01 =

HEEYHEAH 10005617 PIELEESOl =
JCEEYIEEAH 10116220 PIELEESOl =
CEYIEH 10036128 PIEEESO1 =
JCEEIEEAH 10000608 PIELEESO1 =
JCEEYIEEAH 10004633 PIELEESO1 =
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HEHA AR =5

SEEIEAR 10013838 PIFEEES01 =
SEEYIEAR 10014130 YIFREES04 2
SEEIEAR 10039630 PIEEEES04
SEEYIEAR 10040903 PIFEEES04 %
SEEYIEAR 10041237 PIFEEES04 %
SEEYIEAR 10041817 PIFEEES04 %
g e EL b K] 10106119 PIEEEES04 %
g e EL b K] 10016013 PIEEEES04 %
g CEL b K] 10007730 PIEEEES04 %
g CER b K] 10011004 PIEEEES04 %
g CER b K] 10003303 PIEEEES04
g eCER b K] 10105732 PIEEEES04
g eCER b K] 10066207 PIFEEES04
YeEE AR 10094325 PIEEEES04 %
YeEE AR 10335803 PIEEEES04 %
YeEE AR 10137641 PIEEEES04 %
YeEE AR 10139829 PIEEEES04 %
YRR 10162623 PIEEEES04 %
YeEE AR 10156019 PIEEEES04 %
YeEE AR 10136008 PIEEEES04 %
YeEYEAH 10142540 YIFEEES04 %
YeEYEAH 10177540 YIFEEES04 %
CEYIEH 10185141 PIELEES04 %
YeEYEAH 10221939 YIFEEES04 %
YL EYEAH 10192001 YIFEEES04 %
YL EYEAH 10251016 YIFEEES04 %
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HELHA BTG 5
YeEYHEAH 10246716 PIEREHS04 =
YeERYHEA 10262927 PIEREHS04 =
YeEYHEA 10305105 PIEREHS04 =
YeEYHEA 10306415 PIEREHS04 =
YeEYHEA 10303726 PIEREHS04 =
YeEYHEA 10303742 PIEREHS04 =
SLEEYHAH 10294302 PIELEHS04 =
SEEEYHAH 10326412 PIELEHS04 =
SEEEYHAH 10009130 PIELEHS04 =
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